Agenda Item #: 3 - C - 23

PALM BEACH COUNTY BOARD OF COUNTY COMMISSIONERS AGENDA ITEM SUMMARY

Meeting Date: Novema	per 21, 2006 {X}		-	.
	{ }	Workshop {	}	Public Hearing
Department:			-	-
Submitted By:	Engineering & P	ublic Works		
Submitted For:	Engineering Serv	vices Division		
=======================================	=======================================		==:	==========

Project #2007051

I. EXECUTIVE BRIEF

Motion and Title: Staff recommends motion to Approve:

A Contract not to exceed the total value of \$7,205,000 for task orders which may be issued for the Annual Asphalt Milling and Resurfacing Contract with the Primary Contractor, Ranger Construction Industries, Inc., the lowest responsive, responsible bidder, and the Secondary Contractor, East Coast Paving, the second lowest responsive, responsible bidder.

Summary:

The Annual Asphalt Milling and Resurfacing Contract consists of milling and disposal of existing asphalt pavement, maintenance of traffic, cleaning of surfaces for finish applications, and furnishing, hauling, and placement of specified courses. Small Business Enterprise (SBE) goals were established at 15% of the overall contract amount. The SBE participation committed for the project by Ranger Construction Industries (Ranger), the low bidder, is 10%. The SBE participation committed for the project by East Coast Paving (East Coast), the second low bidder, is 11.4%. For the primary contract, while Ranger failed to meet the SBE requirement, the East Coast bid fell outside the limit for ranking of responsible consideration. For the secondary contract, while the East Coast bid failed to meet the SBE requirement, the bid of the third bidder fell outside the limit for ranking of responsible bidder consideration.

District: Countwide (MRE)

Background and Justification:

Bids were received by the Board of County Commissioners on Tuesday, August 22, 2006. The above contract amount is based on the estimated amount to be expended on asphalt milling and resurfacing on roads and pathways throughout the County by various County Departments. This contract is for one year and is re-bid on an annual basis.

Attachments:

- 1. Contract pages (C-1 and C-2)
- 2. Contracts (2)
- 3. SBE Compliance Review
- 4. Bid Tabulation

Recommended by:	·		
	Division Director	Date	
Approved By:	My I Well	10/25/06	
	County Engineer	Date	

II. FISCAL IMPACT ANALYSIS

A. Five Year Summary of Fiscal Impact:

Fiscal Years Capital Expenditures Operating Costs External Revenues Program Income (County In-Kind Match (County) NET FISCAL IMPACT	-0-	<u>2008</u> -0- -0- -0- -0- -0-	2009 -0- -0- -0- -0- -0- -0-	2010 -0- -0- -0- -0- -0- -0-	<u>2011</u> -0- -0- -0- -0- -0- -0-
Is Item Included In Curr	ent Budget?	Yes <u>X</u>	No		

Budget Account No.:

Dudget Accu			
Fund	Department	Unit	Object

Β. **Recommended Sources of Funds/Summary of Fiscal Impact:**

USER DEPARTMENT/DIVISION

BUDGET AMOUNT

Fire-Rescue	\$ <u>0</u>
Airports Environmental Resources Management	\$ 75,000 \$ 0
Facilities Development and Operations	\$ 0
Traffic	\$ 100,000
Parks and Recreation	\$ 430,000
Water Utilities	\$ 100,000
Road and Bridge	\$6,500,000

K ()9/29/06 C. . 2 Wa **Departmental Fiscal Review:**

III. <u>REVIEW COMMENTS</u>

Contract De

and Co**h**trol nos II 1706

5 Go-

ړو

A.

OFMB Fiscal and/or Contract Dev. and Control Comments:

1.30 01 OFMB

B. Legal Sufficiency

Assistant County Attorney

С. **Other Department Review:**

Department Director

This summary is not to be used as a basis for payment. F:\ENG_SER\2006051-Asphalt\AIS.doc

CONTRACT

STATE OF FLORIDA)) SS COUNTY OF PALM BEACH)

This Contract, made this _____ day of ______ A.D. 20__, by and between PALM BEACH COUNTY, a Political Subdivision of the State of Florida, (hereinafter called the County), and RANGER CONSTRUCTION INDUSTRIES, INC. of, WEST PALM BEACH, FL and (his) (its) (their) heirs, successors, executors, administrators and assigns, (hereinafter called the Contractor):

WITNESSETH: The Contractor agrees with the County, for the consideration herein mentioned at his, its or their own proper cost and expense to do all the work and furnish all necessary labor, materials, equipment, machinery, tools, apparatus, services, state workmen's compensation and unemployment compensation taxes incurred in the performance of the contract, for the:

ANNUAL ASPHALT MILLING & RESURFACING CONTRACT, PALM BEACH COUNTY PROJECT NO. 2007051

IN THE AMOUNTS specified in task orders which may be issued by the County under Section #23 and the other terms of the Contract Documents. The County is not required to issue any task orders hereunder. The maximum value of orders issued under this Contract shall not, in any case, exceed SEVEN MILLION TWO HUNDRED FIVE THOUSAND DOLLARS (\$7,205,000) (except as may be increased according to Section #40 of the Contract Specifications). The Contract Documents relative hereto are made a part of this agreement as completely as if set forth herein to the satisfaction of the County or its duly authorized representative.

The Contractor further agrees for the consideration herein mentioned to commence the work with adequate forces and equipment within <u>seventy-two (72) hours</u> of the task order being issued for a specific project. After commencement of the work, it shall be properly dispatched toward completion, to the satisfaction of the Engineer, and shall be fully complete within the time limit specified. It is understood and agreed that the time limit for completion of said work is the essence of the contract and should the Contractor fail to complete the work within the time limit, it is agreed that for such calendar day that any work provided for in these Contract Documents shall remain incomplete after the time limit, it is agreed that for such calendar day that any work provided for in these contract be used for in these Contract Documents shall remain incomplete after the time limit; the sum per day given in the contained schedules shall be deducted from monies due the Contractor, not as a penalty, but as liquidated damages and added expense for supervision.

The Contractor shall take into account all contingent work which has to be done by other parties arising from any cause whatsoever, and shall not plead his want of knowledge of such contingent work as an excuse for delay in his work, or for its non-performance.

IN WITNESS WHEREOF, the parties have caused this Contract to be executed and sealed the day and year first written above.

ATTEST:

By:

 $\left[\right]$

SHARON R. BOCK, Clerk and Comptroller

PALM BEACH COUNTY, a Political Subdivision of the State of Florida BOARD OF COUNTY COMMISSIONERS

By:_

Addie L. Greene, Chairperson

APPROVED AS TO FORM AND LEGAL SUFFICIENCY

Deputy Clerk

COUNTY ATTORNEY

ATTEST

TITLE

(CORPORATE SEAL)

APPROVED AS TO TERMS AND CONDITIONS

harles Rich

ENGINEERING

Ranger Construction Industries, Inc.

(Corporate Name)

LORIDA _corporation а (Insert state of corporation) e C. Coma B٧ (Sign/ature

(Print signatory's name)

Miguel G. Correa Vice President

It's _____(Print title)

CONTRACT (SECONDARY)

STATE OF FLORIDA)) SS COUNTY OF PALM BEACH)

This Contract, made this _____ day of ______ A.D. 20__, by and between PALM BEACH COUNTY, a Political Subdivision of the State of Florida, (hereinafter called the County), and EAST COAST PAVING, A DIVISION OF HUBBARD CONSTRUCTION COMPANY of, WEST PALM BEACH, FL and (his) (its) (their) heirs, successors, executors, administrators and assigns, (hereinafter called the Contractor):

WITNESSETH: The Contractor agrees with the County, for the consideration herein mentioned at his, its or their own proper cost and expense to do all the work and furnish all necessary labor, materials, equipment, machinery, tools, apparatus, services, state workmen's compensation and unemployment compensation taxes incurred in the performance of the contract, for the:

ANNUAL ASPHALT MILLING & RESURFACING CONTRACT, PALM BEACH COUNTY PROJECT NO. 2007051

IN THE AMOUNTS specified in task orders which may be issued by the County under Section #23 and the other terms of the Contract Documents. The County is not required to issue any task orders hereunder. The maximum value of work orders issued under the Primary Contract and this Secondary Contract, shall not, in any case, exceed SEVEN MILLION TWO HUNDRED FIVE THOUSAND DOLLARS (\$7,205,000) (except as may be increased according to Section #40 of the Contract Specifications). The Contract Documents relative hereto are made a part of this agreement as completely as if set forth herein to the satisfaction of the County or its duly authorized representative.

The Contractor further agrees for the consideration herein mentioned to commence the work with adequate forces and equipment within <u>seventy-two (72) hours</u> of the task order being issued for a specific project. After commencement of the work, it shall be properly dispatched toward completion, to the satisfaction of the Engineer, and shall be fully complete within the time limit specified. It is understood and agreed that the time limit for completion of said work is the essence of the contract and should the Contractor fail to complete the work within the time limit, it is agreed that for such calendar day that any work provided for in these Contract Documents shall remain incomplete after the time limit, it is agreed that for such calendar day that any work provided for in these contract Documents shall remain incomplete after the time limit; the sum per day given in the contained schedules shall be deducted from monies due the Contractor, not as a penalty, but as liquidated damages and added expense for supervision.

The Contractor shall take into account all contingent work which has to be done by other parties arising from any cause whatsoever, and shall not plead his want of knowledge of such contingent work as an excuse for delay in his work, or for its non-performance.

IN WITNESS WHEREOF, the parties have caused this Contract to be executed and sealed the day and year first written above.

ATTEST:

By:

SHARON R. BOCK, Clerk and Comptroller

PALM BEACH COUNTY, a Political Subdivision of the State of Florida BOARD OF COUNTY COMMISSIONERS

By:_

Addie L. Greene, Chairperson

APPROVED AS TO TERMS AND CONDITIONS

Charles Rich

EAST COAST PAVING, A DIVISION OF HUBBARD CONSTRUCTION COMPANY (Corporate Name)

corporation FLORIDA а (Insert state of corporation)

By (Signature)

ERNEST J. WOLF (Print signatory's name)

It's <u>vice president-contract administ</u>ration (Print title)

APPROVED AS TO FORM AND LEGAL SUFFICIENCY

Deputy Clerk

COUNTY ATTORNEY

ATTEST

uns. Und

KELLY S. AMICK COMPTROLLER/ASST. SECRETARY

TITLE

(CORPORATE SEAL)

C-2

FROM : JSBA



Office of Frank Bassimers Assistance 50 South Military Trail, Suite 209 What Palm Beach, FL 33415 (561) 616-6840 FAX: (561) 616-6850 www.progov.com/osba

DATE:

TO:

Paim Beach County Board of County Commissioners

🕆 🐺 Masilotti, Chairman

Addie L. Breens, Vice Chairperson

Karer T. Marcus

jeff Koons

Warren H. Newell

Mary McCarty

Burt Aaronson

County Edministrator

tober: Weisman

(BL)

(İİİ)

"An Equal Opportunity Affernative Action Employer"

FROM: Allen F. Gray, Manager Office of Small Business Assist Compliance Review on Project No. 2007051 SUBJECT: ANNUAL MILLING & RESURFACING CONTRACT The following is a Compliance Review of SBE participation on the above mentioned project. Low Bidder: Ranger Construction Industries, Inc. 101 Sansbury's Way West Palm Beach, FL 33411 (561) 793-9400 Phone: Bid Opening: August 22, 2006 Bid Amount: \$ 7,454,950.00 Goal: 15% Goal Achieved: 10% SBE Participation: Southern Transport \$ 484,572.00 6.50% Almazan Brothers 260,923.00 \$ 745,495.00 3.50% 10.00% 2nd Low Bidder: East Coast Paving/ A Division of Hubbard Construction 2269 Indian Road, #3 West Palm Beach, FL 33409 Phone: (561) 683-8459 Bid Amount: \$ 9,233,473.00 Goal Achieved:

11.4%

FAX NO. :5616166850

September 6, 2006

Charles W. Rich, P.E., Director

Engineering Services Division

Sep. 12 2006 03:18PM P374

HAND, SPIETERAN

DED. TE ERRO ROTTOLLE 144

Page 2 File: 2007051.doc

SBE Participation:

(SB) Wynn & Sons

States in the second se

\$ 1,054,388.00

.

11.41%

3rd Low Bidder:

Phone: Bid Amount: Goal Achieved: Community Asphalt Corporation 7795 Hooper Road West Palm Beach, FL 33411 (561) 790-6467 9,763,170.00 15.2%

BBE Participation:

(BL)	Southern Transport	\$ 585,949.00		6.00%
(HI)	Almazan Brothers	898,053.00	\$ 1,484,002.00	9.20%
				15.20%

EVALUATION:

The Low Bidder, Ranger Construction Industries, Inc., failed to meet the SBE goal for this project. The Second Low Bid falls outside the limits for ranking of responsive bidder's consideration.

CC: Verdenia Baker, Deputy County Administrator Hazel Oxendine, Director, OSBA Tammy Fields, Assistant County Attorney

PROJECT NAME: ANNUAL ASPHALT MILLING & RESURFACING CONTRACT

PROJECT NUMBER: 2007051

BID OPENING DATE: AUGUST 22, 2006 CONTRACT DAYS: 365 CALENDAR DAYS

			NSTRUCTION RIES, INC.	HUBBARD CONSTRUCTION COMPANY		COMMUNITY ASPHALT CORPORATION		AVERAGE	
ITEM	QTY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE
EAST DISTRICT:	******	*****	******	*******	*******				
1 MILL EXIST. ASPH. PAVEMENT (1")	200,000	SY	\$1.05	\$210,000.00	\$1.20	\$240,000.00	\$1.35	\$270,000.00	\$1.20
2 MILL EXIST. ASPH. PAVEMENT (11/2")	50,000	SY	\$1.10	\$55,000.00	\$1.40	\$70,000.00	\$2.35	\$117,500.00	\$1.62
3 ABC (<50 TON ORDERS)	100	TN	\$73.00	\$7,300.00	\$105.70	\$10,570.00	\$130.00	\$13,000.00	\$102.90
4 ABC (50-99 TON ORDERS)	200	ΤN	\$68.00	\$13,600.00	\$105.70	\$21,140.00	\$96.00	\$19,200.00	\$89.90
5 ABC (>99-200 TON ORDERS)	400	TN	\$58.00	\$23,200.00	\$105.70	\$42,280.00	\$94.00	\$37,600.00	\$85.90
6 ABC (>200 TON ORDERS)	1,000	TN	\$58.00	\$58,000.00	\$105.70	\$105,700.00	\$92.00	\$92,000.00	\$85.23
7 ACSC TYPE S-I (<50 TON ORDERS)	100	TN	\$73.00	\$7,300.00	\$105.70	\$10,570.00	\$92.00	\$9,200.00	\$90.23
8 ACSC TYPE S-I (50-99 TON ORDERS)	200	TN	\$68.00	\$13,600.00	\$105.70	\$21,140.00	\$83.00	\$16,600.00	\$85.57
9 ACSC TYPE S-I (>99-200 TON ORDERS)	400	TN	\$58.00	\$23,200.00	\$105.70	\$42,280.00	\$93.00	\$37,200.00	\$85.57
10 ACSC TYPE S-I (>200 TON ORDERS)	1,000	TN	\$58.00	\$58,000.00	\$105.70	\$105,700.00		\$95,000.00	\$86.23
11 ACSC TYPE S-III (<50 TON ORDERS)	100	TN	\$73.00	\$7,300.00	\$105.70	\$10,570.00	\$96.00	\$9,600.00	\$91.57
12 ACSC TYPE S-III (50-99 TON ORDERS)	· 200	TN	\$68.00	\$13,600.00	\$105.70	\$21,140.00	\$85.00	\$17,000.00	\$86.23
13 ACSC TYPE S-III (>99-200 TON ORDERS)	1,000	TN	\$58.00	\$58,000.00	\$105.70	\$105,700.00	\$84.00	\$84,000.00	\$82.57
14 ACSC TYPE S-III (>200-800 TON ORDERS)	2,000	TN	\$75.00	\$150,000.00	\$98.15	\$196,300.00	\$95.00	\$190,000.00	\$89.38
15 ACSC TYPE S-III (>800 TON ORDERS)	40,000	TN	\$76.00	\$3,040,000.00	\$88.15	\$3,526,000.00	\$94.00	\$3,760,000.00 *******	\$86.05 ******
WEST DISTRICT:	******	*****	******	******	*******	******	******		
16 MILL EXIST. ASPHALT PAVEMENT (11/2")	15,000	SY	\$1.00	\$15,000.00	\$1.50	\$22,500.00	\$2.50	\$37,500.00	\$1.67
17 ABC (<50 TON ORDERS)	100	TN	\$73.00	\$7,300.00	\$102.00	\$10,200.00	\$140.00	\$14,000.00	\$105.00
18 ABC (50-99 TON ORDERS)	200	TN	\$68.00	\$13,600.00	\$102.00	\$20,400.00	\$90.00	\$18,000.00	\$86.67
19 ABC (>99-200 TON ORDERS)	400	TN	\$58.00	\$23,200.00	\$102.00	\$40,800.00	\$122.00	\$48,800.00	\$94.00
20 ABC (>200 TON ORDERS)	1,000	TN	\$58.00	\$58,000.00	\$102.00	\$102,000.00	\$95.00	\$95,000.00	\$85.00
21 ACSC TYPE S-I (<50 TON ORDERS)	100	TN	\$73.00	\$7,300.00	\$102.00	\$10,200.00	\$93.00	\$9,300.00	\$89.33
22 ACSC TYPE S-I (50-99 TON ORDERS)	200	TN	\$68.00	\$13,600.00	\$102.00	\$20,400.00	\$88.00	\$17,600.00	\$86.00
23 ACSC TYPE S-I (>99-200 TON ORDERS)	400	TN	\$58.00	\$23,200.00	\$102.00	\$40,800.00	\$98.00	\$39,200.00	\$86.00
24 ACSC TYPE S-I (>200 TON ORDERS)	1,000	TN	\$58.00	\$58,000.00	\$102.00	\$102,000.00	\$97.00	\$97,000.00	\$85.67
25 ACSC TYPE S-III (<50 TON ORDERS)	100	TN	\$73.00	\$7,300.00	\$102.00	\$10,200.00	\$135.00	\$13,500.00	\$103.33
26 ACSC TYPE S-III (50-99 TON ORDERS)	200	TN	\$68.00	\$13,600.00	\$102.00	\$20,400.00	\$111.00	\$22,200.00	\$93.67
27 ACSC TYPE S-III (>99-200 TON ORDERS)	1,000	TN	\$58.00	\$58,000.00	\$102.00	\$102,000.00	\$109.00	\$109,000.00	\$89.67
28 ACSC TYPE S-III (>200-800 TON ORDERS)	2,000	TN	\$74.00	\$148,000.00	\$97.90	\$195,800.00	\$99.00	\$198,000.00	\$90.30
29 ACSC TYPE S-III (>800 TON ORDERS)	40,000	TN	\$73.00	\$2,920,000.00	\$88.60	\$3,544,000.00	* \$96.00	\$3,840,000.00	\$85.87

*Denotes Corrected Figure Bids Received by: Charles Rich, P.E. Bids Recorded by: Jayne Canale

PROJECT NAME: ANNUAL ASPHALT MILLING & RESURFACING CONTRACT

PROJECT NUMBER: 2007051

BID OPENING DATE: AUGUST 22, 2006 CONTRACT DAYS: 365 CALENDAR DAYS

		· · ·	RANGER CONSTRUCTION INDUSTRIES, INC.			ONSTRUCTION	COMMUN		
ITEM	QTY	UNITS		AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	AVERAGE UNIT PRICE
EAST AND WEST DISTRICTS:	******	*****	******	******	******	******	******	******	*****
30 PORTABLE MILLING MACHINE	100	HR	\$270.00	\$27,000.00	\$241.70	\$24,170.00	\$400.00	\$40,000.00	\$303.90
31 MILL EXIST. ASPH. PAVEMENT (<5,000 SY)	3	DAY	\$6,500.00	\$19,500.00	\$7,280.00	\$21,840.00	\$7,005.00	\$21,015.00	\$6,928.33
32 BROOM TRACTOR	3	DAY	\$650.00	\$1,950.00	\$533.50	\$1,600.50	\$635.00	\$1,905.00	\$606.17
33 PAVEMENT WATERPROOFING FABRIC	10,000	SY	\$1.10	\$11,000.00	\$1.70	\$17,000.00	\$1.75	\$17,500.00	\$1.52
34 ACSC TYPE S-III (VIRGIN)	1,000	TN	\$70.00	\$70,000.00	\$104.70	\$104,700.00	\$95.00	\$95,000.00	\$89.90
35 ASPH. CONC. FRICTION COURSE (TYPE FC-2)	500	TN	\$70.00	\$35,000.00	\$124.70	\$62,350.00 *	\$110.00	\$55,000.00	\$101.57
36 ASPH. CONC. FRICTION COURSE (TYPE FC-5)	1,000	TN	\$75.00	\$75,000.00	\$170.75	\$170,750.00	\$120.00	\$120,000.00	\$121.92
37 MANHOLE ADJUSTMENT	300	EA	\$200.00	\$60,000.00	\$152.60	\$45,780.00	\$150.00	\$45,000.00	\$167.53
38 FURNISH & INSTALL INFLOW RECEPTORS	150	EA	\$105.00	\$15,750.00	\$56.50	\$8,475.00	\$90.00	\$13,500.00	\$83.83
39 ADJUST VALVE BOXES & MISC. STRUCTURES	150	EA	\$45.00	\$6,750.00	\$101.65	\$15,247.50	\$45.00	\$6,750.00	\$63.88
40 BOX OUT SHOULDER (AS PER DETAIL)	100	HR	\$72.00	\$7,200.00	\$139.55	\$13,955.00	\$150.00	\$15,000.00	\$120.52
41 REMOVE & RE-INSTALL WHEEL STOPS	500	EA	\$42.00	\$21,000.00	\$9.05	\$4,525.00	\$10.00	\$5,000.00	\$20.35
42 BITUMINOUS MATERIAL (PRIME COAT)	100	GAL	\$6.00	\$600.00	\$4.00	\$400.00	\$5.00	\$500.00	\$5.00
TOTAL:	******	*****	******	\$7,454,950.00	*******	\$9,261,583.00	k *******	\$9,763,170.00	*****

PROJECT NAME: ANNUAL ASPHALT MILLING & RESURFACING CONTRACT PROJECT NUMBER: 2007051

BID OPENING DATE: AUGUST 22, 2006 CONTRACT DAYS: 365 CALENDAR DAYS

J.W. CHEATHAM, INC.

	ITEM	QTY	UNITS	UNIT PRICE	AMOUNT
	EAST DISTRICT:	******	*****	******	*****
1	MILL EXIST. ASPH. PAVEMENT (1")	200,000	SY	\$1.60	\$320,000.00
2	MILL EXIST. ASPH. PAVEMENT (11/2")	50,000	SY	\$1.80	\$90,000.00
. 3	ABC (<50 TON ORDERS)	100	TN	\$125.00	\$12,500.00
4	ABC (50-99 TON ORDERS)	200	TN	\$125.00	\$25,000.00
5	ABC (>99-200 TON ORDERS)	400	TN	\$115.00	\$46,000.00
6	ABC (>200 TON ORDERS)	1,000	TN	\$103.00	\$103,000.00
7	ACSC TYPE S-I (<50 TON ORDERS)	100	TN	\$125.00	\$12,500.00
8	ACSC TYPE S-I (50-99 TON ORDERS)	200	TN	\$125.00	\$25,000.00
9	ACSC TYPE S-I (>99-200 TON ORDERS)	400	TN	\$115.00	\$46,000.00
10	ACSC TYPE S-I (>200 TON ORDERS)	1,000	TN	\$103.00	\$103,000.00
11	ACSC TYPE S-III (<50 TON ORDERS)	100	TN	\$125.00	\$12,500.00
	ACSC TYPE S-III (50-99 TON ORDERS)	200	TN	\$125.00	\$25,000.00
	ACSC TYPE S-III (>99-200 TON ORDERS)	1,000	TN	\$115.00	\$115,000.00
	ACSC TYPE S-III (>200-800 TON ORDERS)	2,000	TN	\$103.00	\$206,000.00
15	ACSC TYPE S-III (>800 TON ORDERS)	40,000	TN	\$91.00	\$3,640,000.00
	WEST DISTRICT:	*****	*****	******	******
	MILL EXIST. ASPHALT PAVEMENT (11/2")	15,000	SY	\$6.00	\$90,000.00
	ABC (<50 TON ORDERS)	100	TN	\$130.00	\$13,000.00
18	ABC (50-99 TON ORDERS)	200	TN	\$130.00	\$26,000.00
19	ABC (>99-200 TON ORDERS)	400	TN	\$120.00	\$48,000.00
20	ABC (>200 TON ORDERS)	1,000	TN	\$108.00	\$108,000.00
	ACSC TYPE S-I (<50 TON ORDERS)	100	TN	\$130.00	\$13,000.00
22	ACSC TYPE S-I (50-99 TON ORDERS)	200	TN	\$130.00	\$26,000.00
23	ACSC TYPE S-I (>99-200 TON ORDERS)	400	TN	\$120.00	\$48,000.00
24	ACSC TYPE S-I (>200 TON ORDERS)	1,000	TN	\$108.00	\$108,000.00
25	ACSC TYPE S-III (<50 TON ORDERS)	100	ΤN	\$130.00	\$13,000.00
26	ACSC TYPE S-III (50-99 TON ORDERS)	200	TN	\$130.00	\$26,000.00
	ACSC TYPE S-III (>99-200 TON ORDERS)	1,000	TN	\$120.00	\$120,000.00
28	ACSC TYPE S-III (>200-800 TON ORDERS)	2,000	TN	\$108.00	\$216,000.00
	ACSC TYPE S-III (>800 TON ORDERS)	40,000	TN	\$96.00	\$3,840,000.00

*Denotes Corrected Figure Bids Received by: Charles Rich, P.E. Bids Recorded by: Jayne Canale

PROJECT NAME: ANNUAL ASPHALT MILLING & RESURFACING CONTRACT PROJECT NUMBER: 2007051

BID OPENING DATE: AUGUST 22, 2006 CONTRACT DAYS: 365 CALENDAR DAYS

J.W. CHEATHAM, INC.

	ITEM EAST AND WEST DISTRICTS:	QTY	UNITS ******	UNIT PRICE	AMOUNT
30	PORTABLE MILLING MACHINE	100	HR	\$130.00	\$13,000.00
31		3	DAY	\$7,410.00	\$22,230.00
	BROOM TRACTOR	3	DAY	\$1,200.00	\$3,600.00
33		10,000	SY	\$3.40	\$34,000.00
34	ACSC TYPE S-III (VIRGIN)	1,000	TN	\$133.00	\$133,000.00
30	ASPH. CONC. FRICTION COURSE (TYPE FC-2)	500	TN	\$140.00	\$70,000.00
37	ASPH. CONC. FRICTION COURSE (TYPE FC-5) MANHOLE ADJUSTMENT	1,000	TN	\$145.00	\$145,000.00
	FURNISH & INSTALL INFLOW RECEPTORS	300	EA	\$300.00	\$90,000.00
39	ADJUST VALVE BOXES & MISC. STRUCTURES	150 150	EA	\$100.00	\$15,000.00
40	BOX OUT SHOULDER (AS PER DETAIL)	100	EA HR	\$400.00	\$60,000.00
41	REMOVE & RE-INSTALL WHEEL STOPS	500	EA	\$150.00	\$15,000.00
42	BITUMINOUS MATERIAL (PRIME COAT)	100	GAL	\$30.00 \$5.00	\$15,000.00
	TOTAL:	******	*****	\$ 5.00 ******	\$500.00 \$10,092,830.00

*Denotes Corrected Figure Bids Received by: Charles Rich, P.E. Bids Recorded by: Jayne Canale